
RIPPLE EFFECT
Every black bordered shape must contain the 
consecutive integers from 1 to the quantity of cells 
in that shape. If two identical numbers appear 
in the same row or column, at least that many 
cells with other numbers must separate them. For 
example, two cells both containing ‘3’ must have 
at least three cells with other numbers between 
them in that row or column.

VLINDERSLAG
In elk vakje komt een cijfer te staan. In een 
zwart omrande regio van 1 vakje komt een 1, in 
een regio van 2 vakjes komen een 1 en een 2, 
enzovoort. Als er twee dezelfde cijfers op een rij 
of in een kolom staan zijn die gescheiden door 
tenminste zoveel vakjes als dat cijfer aangeeft. 
Tussen twee vieren in dezelfde kolom staan dus 
minstens vier vakjes met een ander cijfer.


